
1. Дано:     Си:     Решение:
[bookmark: _GoBack]     S = 3км                  3000м   s = v*t =2, 5 * 60 = 150м     
     t = 1мин                60с        3000/150 = 20	
     v2 = 5м/с                             20-20 = 0
     v1 = 2,5м/с                          Ответ: 0 пирожков

2.  Дано:   Си:        Решение:
     S1 = 165м                                v1 = S1/t1 = 165/30 = 5,5м/с
     t1 = 30с                                    v2 = S2/t2 =9900/1800 = 5,5м/с
     S2 = 9,9км           9900м        v3 = S3/t3 = 66/120 = 0,55м/с
     t2 = 30мин          1800с         v4 = S4/t4 = 475300/86400 = 5,5012м/с
     S3 = 66м
     t3 = 2мин            120с
     S4 = 475,3км      475300м    Ответ: 4 спортсмен победил, 3 спортсмен отстал
     t4 = 24ч                86400с

3.  (l1-l2)/(v1+v2)*v3

4.  Дано:   Решение:
     N1 = 50 ст.           75-50 = 25
     N2 = 75cт.         75+25 = 100
     N3 =?                 Ответ: 100 ст.
   


5.  Дано:    Си:          Решение:
      V1 = 10л              0,01м3         3/24 = 0,125м3/с
      t1 = 100c                                   10/100 = 0,1м3/с
      v2 = 3л                 0,003м3       0, 1+0,125 = 0,225м3/с
      t2 = 24c                                      0, 0045/0,225 = 20с
      v3 = 4,5л              0,0045м3    Ответ: 20с
      t3 =?

6.  Дано:    Си:      Решение:   
    V1 = 5км/ч                1,4м/с     V cр. = (V1+V2+V3) /3= 
    V2 = 20км/ч             5,6м/с     = (1, 4+5, 6+2, 8)/3 = 3,3м/с
    V3 = 10км/ч             2,8м/с
    Vср. =?                                     Ответ: 3,3м/с
